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Match the expression with its product.

4. 5(—8) A. 48
2. —a(—10> B. 40
3. 8(—6) C. —40
4. —3(—16> D. —18

Find the product.

5. 3(—8) 6. —7(—6) 7. 0C—14>

8. 5(—10) 9. —11(—3> A0, —12(— 13>
11, —14¢7 D 12, SC—19) A3. —I50i62
14. —204X —8> 15. 60 —83 —9) A6, —TF(—72X—3>

Evaluate the expression.

a7, (—73° as. —23 19.¢ 4> 20. 1%

21, 2(—5)7 22, —1¢—75 23, —3(2%} 24. —52(—13?
Evaluate the expression when X = —8, ¥y = —5, and Z = —3.

25. 4xy 26. Txz 27 xv— -

28. zy + x 29. 9xyz 30. —3xy + 2zx

Find the product.
31. |73 32. —6-]15| 33. —3(—91+i—5:

34. You were carrying $45 in your pocket. but three $5 bills slipped out and
vou lost them. How much money do you have now?

35. A person planted 8 rows of 9 tamata plants in a vegetable garden. Heavy
rains washed 3 of the rows out. The rest of the plants all yielded tomatoes.
How many of the tomatc plants yielded romatoes?

36. Marie has $400 in a savings account. She withdraws $30 each week for
six weeks to pay for piano Jlessons. How much moncy is left in her
savings account?

37. A man goes on a diet and loses 3 pounds a month for 8 months. What is the
total change in the man’s weight?
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